
1) Write 0.2 in standard form.

Answer: ____________

2) 6049 - (-7864)

Answer: ____________

3) 83 x 100

Answer: ____________

4) 1120 ÷ 20

Answer: ____________

5) 'What is the probability of rolling a 
even prime number.when rolling a dice

Answer: ____________

6) Find the value of 'j' by completing the 
square of the following equation: 2 + 
8j + 12

Answer: ____________

7) Find the value of 'j' by completing the 
square of the following equation: 2 + 
8j + 12

Answer: ____________

8) Convert the following improper 
fraction 1313/17 + 238/13 into a 
mixed number

Answer: ____________

9) Find the range of the following set of data:

-13, -13, 0.1, 0.2, 17, -13, 17, -20

Answer: ____________

10) Round 4.46825 to the nearest 100

Answer: ____________

11) Find perimeter of 
rectangle having 
sides a = 4576 ft 
and b = 1161 ft

Answer: ____________

12)

'Name the type of angle.

Answer: ____________

13) 19/
14 ÷ 32

/3

Answer: ____________

14) Write 3 x 105 as a normal number.

Answer: ____________

15) Decrease 220 by 1/110

Answer: ____________
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16) 3811/20 ÷ 372/17

Answer: ____________

17) 04:57 am To 12:53 pm

Answer: ____________

18) (5 x 57) x (9 x 54)

Answer: ____________

19) 2412/17 x 4018/19

Answer: ____________

20) Find perimeter of 
rectangle having 
sides a = 8802 m 
and b = 8233 m

Answer: ____________

21) Decrease 318 by 96%

Answer: ____________

22) A number is chosen at random from 
1 to 75. Find the probability of 
selecting divisors of 17.

Answer: ____________

23)
121

6 /12

Answer: ____________

24) Increase 377 by 79%

Answer: ____________

25) Increase 377 by 79%

Answer: ____________

26) (-5037) ÷ 73

Answer: ____________

27) 9128 x 9690

Answer: ____________

28) Find the value of 'q' by completing 
the square of the following equation: 
2 + 12q + 20

Answer: ____________

29) 7219.3 - 8209.4

Answer: ____________

30) Find the mean of the following set of data:

0.1, 53, 0.8, 41, 70, 44

Answer: ____________
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31) Find perimeter of 
rectangle having 
sides a = 9557 ft 
and b = 8356 ft

Answer: ____________

32) Find the mean of the following set of data:

70, 0.6, 0.6, 0.3, 0.7, 0.1, 0.9

Answer: ____________

33) Solve 15x2 - 18x - 11 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

34) A number is chosen at random from 
1 to 75. Find the probability of 
selecting multiples of 16 and 18.

Answer: ____________

35) 331/18 x 105/6

Answer: ____________

36)
9

3 /6

Answer: ____________

37)
32

4 /10

Answer: ____________

38) 15   15/16 - 26   4/5

Answer: ____________

39) (-5162) - 8649

Answer: ____________

40) 01:56 am To 09:56 am

Answer: ____________

41) 53.1 x 88.2

Answer: ____________

42) 30/5 + 4/19

Answer: ____________

43) (-4636) ÷ (-61)

Answer: ____________

44) 3104 + 6360

Answer: ____________

45) 33.8 x 35

Answer: ____________
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46) Convert the following fraction into a 
mixed number: 55/36

Answer: ____________

47) (-6382) - 5646

Answer: ____________

48) What would you multiply by to 
increase an amount by 61%?

Answer: ____________

49)
34  Find Volume of Cone 

31

Answer: ____________

50) 8450.5 - 3987.3

Answer: ____________

51) 614/15 ÷ 269/10

Answer: ____________

52) $346.31 earning 9% compound 
interest for 1 years.

Answer: ____________

53) Find area of 
rectangle having 
sides a = 5809 ft 
and b = 5664 ft

Answer: ____________

54) Simplify 19:84

Answer: ____________

55) Find perimeter of 
square having each 
side (s) equals 3862 in

Answer: ____________

56) 30 x (-67)

Answer: ____________

57) $22.00 earning 6% compound 
interest for 4 years.

Answer: ____________

58) Find the median of the following set of data:

26, 5, 14, 4, 22, 20, 34, 12, 21, 22, 
23, 8, 11, 38, 13, 16, 38, 27, 40, 13

Answer: ____________

59) 9494 - 8588

Answer: ____________

60) 7681 + (-9043)

Answer: ____________
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61) 7829.8 - 984.4

Answer: ____________

62) Find perimeter of 
square having each 
side (s) equals 6390 cm

Answer: ____________

63) Decrease 185 by 94%

Answer: ____________

64) 12/5 + 6/3

Answer: ____________

65) b

a o c
Measure angle boa 

Answer: ____________

66) (7 x 48) / (8 x 8-5)

Answer: ____________

67) 217 * 2-4

Answer: ____________

68) Convert the following fraction into a 
mixed number: 10/6

Answer: ____________

69) 1680 ÷ 20

Answer: ____________

70) 05:32 am To 11:16 am

Answer: ____________

71) Simplify 23:81

Answer: ____________

72) (9 x 53) - (8 x 107)

Answer: ____________

73)
40  Find Volume of 
               31       Cylinder 

Answer: ____________

74) 4798 x 4607

Answer: ____________

75) $374.88 earning 2% compound 
interest for 5 years.

Answer: ____________
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76) 34 x 10

Answer: ____________

77) A number is chosen at random from 
1 to 75. Find the probability of 
selecting factors of 20 and 17.

Answer: ____________

78) 'What is the probability of rolling a 
multiple of 6.when rolling a dice

Answer: ____________

79) Find the median of the following set of data:

28, 4, 34, 39, 32, 28, 13, 14, 5, 35, 
15, 28, 15, 40, 15, 22, 26, 18, 20, 2

Answer: ____________

80) 60 x 10

Answer: ____________

81) 42.7 x 58.8

Answer: ____________

82) Find perimeter of 
square having each 
side (s) equals 4761 ft

Answer: ____________

83) 7/144 of 288

Answer: ____________

84) b

a o c
Measure angle boc 

Answer: ____________

85) Find the percentage change from 232 
to 406

Answer: ____________

86) 19   1/12 - 39   15/16

Answer: ____________

87) 19   1/12 - 39   15/16

Answer: ____________

88) Convert the following improper 
fraction 52/3 + 2110/11 into a mixed 
number

Answer: ____________

89) 40/16 - 5/19

Answer: ____________

90) Share 95 in the ratio 20:75

Answer: ____________
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91) Find the mean of the following set of data:

10, 88, 0.9, 31

Answer: ____________

92) Convert the following improper 
fraction 91/5 + 242/3 into a mixed 
number

Answer: ____________

93) Find the mode of the following set of data:

200, 200, 200, 200, 200, 200, 200, 
69, 69, 69, 3, 3, 3, 3, 3, 3, 49, 49, 
49, 49, 49, 49

Answer: ____________

94)

Name the type of angle.

Answer: ____________

95) Convert the following mixed number 
3019/10 into an improper fraction.

Answer: ____________

96) 03:28 am To 12:37 pm

Answer: ____________

97) Increase 198 by 1/33

Answer: ____________

98) Find the median of the following set of data:

19, 14, 25, 31, 34, 34, 8, 10, 17, 22, 
9, 13, 25, 10, 36, 17, 21, 19, 23, 18

Answer: ____________

99) 2914/17 x 282/3

Answer: ____________

100) 5/107 of 214

Answer: ____________

Total: ___ / 100
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Answers:

1) 2 x 10-1 2) 13913 3) 8300 4) 56 5) 1/6 6) (j + 4)2 - 4 7) (j + 4)2 - 4

8) 3784/221 9) 37 10) 4.47 11) 11474ft 12) Obtuse 13) 57/448 14) 300000

15) 218 16) 1487/12620 17) 07 Hours 56 Mins 18) 2197265625 19) 1011207/323 20) 34070m 21) 12.72

22) 2/75 23) 11 24) 674.83 25) 674.83 26) -69 27) 88450320 28) (q + 6)2 - 16

29) -990.1 30) 34.82 31) 35826ft 32) 10.46 33) x = 1.6 or -0.4 34) 8/75 35) 35811/108

36) 3 37) 4 38) 2169/80 39) -13811 40) 08 Hours 00 Mins 41) 4683.42 42) 64/19

43) 76 44) 9464 45) 1183 46) 119/36 47) -12028 48) 1.61 49) 8554.0331969494

50) 4463.2 51) 208/807 52) $377.48 53) 32902176ft 54) 19 : 84 55) 15448in 56)

57) $27.77 58) 22.5 59) 906 60) -1362 61) 6845.4 62) 25560cm 63) 11.1

64) 42/5 65) 25 66) 1879048192 67) 213 68) 12/3 69) 84 70) 05 Hours 44 Mins

71) 23 : 81 72) -79998875 73) 30190.705400998 74) 22104386 75) $413.90 76) 340 77) 0/1

78) 1/6 79) 25 80) 600 81) 2510.76 82) 19044ft 83) 14 84) 112

85) 75% 86) 4041/48 87) 4041/48 88) 2719/33 89) 29/38 90) 1 : 94 91) 32.48

92) 3313/15 93) 200 94) Acute 95) 319/10 96) 09 Hours 09 Mins 97) 204 98) 15.5

99) 85416/17 100) 10
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